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QUESTION 1

A Web service needs to encrypt certain SOAP headers when responding. Which statement about this encryption is
true? 

A. The Web service runtime is the appropriate place for such encryption. 

B. The Web service business logic is the appropriate place for such encryption. 

C. Either the Web service business logic or runtime is appropriate for such encryption. 

D. Neither the Web service business logic nor runtime is appropriate for such encryption. 

E. Transport level security protocol like SSL should be used to meet the requirements without code changes. 

Correct Answer: A 

 

QUESTION 2

Which two statements are true about elements in a WSDL document? (Choose two.) 

A. Operation is an abstract set of port types supported by one or more endpoints. 

B. Service is an abstract set of operations supported by one or more endpoints. 

C. Message is an abstract description of an action supported by the service. 

D. Operation is an abstract description of an action supported by the service. 

E. Binding is a single endpoint defined as a combination of an operation and a network address. 

F. Message is an abstract, typed definition of the data being communicated. 

Correct Answer: DF 

 

 

QUESTION 3

What is an advantage of enabling Addressing feature on an endpoint? 

A. Addressing ensures reliable transfer of messages between client address and the service address. 

B. Addressing ensures the message exchanges between the client and service are properly secured. 

C. Addressing enables the optimization of messages exchanged between the client and the service. 

D. Addressing provides transport-neutral way to address the endpoints and messages. 

Correct Answer: D 
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QUESTION 4

An automobile manufacturer publishes a Web service for use by their suppliers. The manufacturer has stringent security
requirements that require suppliers to verify their identity. Data integrity and confidentiality must be maintained between
the client and the server. Which two technologies can be used to meet the requirements? (Choose two) 

A. XACML and XKMS 

B. SSL with mutual authentication 

C. Message level security with WS-Security 

D. Private network and XML Signature 

Correct Answer: BC 

 

QUESTION 5

Given that StockQuoteService is a Service class and StockQuoteProvider is a corresponding SEI for a web service.
Which of the following options enable MTOM feature for proxy for the StockQuoteProvider SEI ? (Choose one) 

A. proxy = new StockQuoteService().getStockQuoteProvider() 

B. proxy = new StockQuoteService().getStockQuoteProvider(new MTOMFeature()) 

C. proxy = new StockQuoteService(new MTOMFeature()).getStockQuoteProvider() 

D. proxy = new StockQuoteService().getStockQuoteProvider(new RespectBindingFeature()) 

Correct Answer: B 
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